
   78 G10 CH 8 WS 3 Introduction to Trigonometry 
 

  
 

  

Grade - 10 www.thirdapple.in 
1 

Introduction to Trigonometry : Worksheet -3 

1. If tan =  then 7sin2 + 3cos2 =     [ ] 

      a) 1   b) 2   c) 3   d) 4 
 

2. If 4tan = 3, then the value of  =   [ ] 

 

      a) 21   b) 22   c)    d)  

 

3. If sec  = cosec , then  =      [ ] 

a) 30o  b) 45o  c) 60o   d) 90o 

4. tan (90o + ) =         [ ] 

a) tan   b) sin   c) – tan   d) – cot  

5.  If tan  is not defined then  =      [ ] 

  a) 0o  b) 45o  c) 60o   d) 90o 

6. sec (90 - ) =          [ ] 

   a) cos   b) sin   c) cosec   d) cot  

7. If cos = -  and << 3/2, then =   [ ] 

    a) 1   b) 0   c) 6   d) 1/6 

8. In le ABC, cos(A + B) + cosC =      [ ] 

     a) sin(A + B + C) b) cos (A + B + C)  c) 0   d) – 1 

9. tan 2A = ___________ if A = 22o30’     [ ] 

  a) 1   b) 2   c) √3   d)  

10. Given sin (90 - )= 1 then  =      [ ] 

 a) 0o   b) 45o  c) 60o   d) 90o 
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